No.

Mk

v

CH-TA AR =2/ — Ml

100 m2¥%4Y
CAA i) PSR ) E2V =X {A B &
PRI h=-20 0.15X100 m3 15.0
5w U 0.15X100 m3 15.0
FER T 100 m2 100.0
BEIT =T
A (RC-40)100 100 m2 100.00
T 0.07X10X2 m2 1.40
2/7)—h 18-8-25 0.07 X100 m3 7.00
fifffis B FHIERTER JE10 0.05X 10X 4 m2 2.00
%'k Eviavk  10X4 m 40.00
Fimfl b
itk CH-7A 100 m2 100.00
{LBE B Hh () 8X10X2 m 160.00




No.

Mk

v

CH-10A AE=v7) bt

100 m2¥%4Y
CAA i) PSR ) E2V =X {A B &
PRI h=-20 0.23X100 m3 23.0
5w U 0.23X100 m3 23.0
FER T 100 m2 100.0
BEIT =T
A (RC-40)150 100 m2 100.00
T 0.1X10X2 m2 2.00
2/7)—h 18-8-25 0.1X 100 m3 10.00
fifffis B FHIERTER JE10 0.08X 10X 4 m2 3.20
%'k Eviavk  10X4 m 40.00
Fimfl b
itk CH-10A 100 m2 100.00
{LBE B Hh () 8X10X2 m 160.00

w7 BT




No.

NI = Vvl
OB E B E
GH-30A ## A Yt éiss
100 m233%Y
& FR G S H = AL W =
PR3 h=-20 0.17 X100 m3 17.0
R 0.17 X 100 m3 17.0
R T 100 m2 100.0
BTy =T
i Sk (RC-40)100 100 m2 100.00
oy AAHEE IS T m3
B ) —ME
W7 ayy 300X 300X60 |HxHNDY e 1,129
b H AAHEE IS T m3
K= AAHEE IS T m2




No.

NI = Vvl
OB E B E
GH-30B ##f W hahdt
100 m233%Y
& B G S H = AL W =
PR3 h=-20 0.22 X100 m3 22.0
R 0.22X100 m3 22.0
R T 100 m2 100.0
BTy =T
A (RC-40)150 100 m2 100.00
by AAHEE IS T m3
B ) —ME
A 300X 300X 60 | HENY # 1,129
1Lt H H EALN(1:2)  BEMEEIZE T m3
K= MR I E D m2




No.

NI = Vvl
OB E B E
AH-30A e EH s
100 m233%Y
& B G S H = AL W =
PR3 h=-20 0.17 X100 m3 17.0
7+ 0.17 X100 m3 17.0
R T 100 m2 100.0
BTy =T
A (RC-40)100 100 m2 100.00
BLEMIN 1:3 (ZE#) AAHEE IS T m3
YeH a7 =R
A Y 300X 300X 60 | HENY % 1,129
1Lt H H EALN(1:2)  BEMEEIZE T m3




No.

NI = Vvl
OB E B E
AH-30B P& H S brdidt
100 m233%Y
& B G S H = AL W =
PR3 h=-20 0.22 X100 m3 22.0
7+ 0.22X100 m3 22.0
R T 100 m2 100.0
BTy =T
A (RC-40)150 100 m2 100.00
BLEMIN 1:3 (ZE#) AAHEE IS T m3
YeH a7 =R
A Y 300X 300X 60 | HENY % 1,129
1Lt H H EALN(1:2)  BEMEEIZE T m3




No.

M = Yoviv
OB E B E
CBH-6A Av4—ny¥/ 7 &%k
100 m233%Y
& B G S H = AL W =
PR3 h=-20 0.17 X100 m3 17.0
7+ 0.17 X100 m3 17.0
R T 100 m2 100.0
BTy =T
A (RC-40)100 100 m2 100.00
K= 100 m2 100.00
Edi 0.03X 100 1.29 m3 3.87
A h—ny¥ )7
ny/ JE60 100 m2 100.00




No.

M = Yoviv
OB E B E
CBH-8A A 4—ny¥/ /&%t
100 m233%Y
& B G S H = AL W =
PR3 h=-20 0.24 X100 m3 24.0
7+ 0.24 X100 m3 24.0
R T 100 m2 100.0
BTy =T
A (RC-40)150 100 m2 100.00
K= 100 m2 100.00
Edi 0.03X 100 1.29 m3 3.87
A h—ny¥ )7
ny/ JE80 100 m2 100.00




No.

SH-A /)M A iR a4k

Mk

it H R

100 m2¥%4Y

CAA i) PSR ) E2V =X {A B &

PRI h=20 0.27 X100 m3 27.0
7% 0.27 X100 m3 27.0
FER T 100 m2 100.0

BEIT =T

A (RC-40)100 100 m2 100.00

T 0.07X10X2 m2 1.40
2/7)—h 18-8-25 0.07 X100 m3 7.00
BLEMIV 1:3 (ZE7) MR T m3
fifffis B FHIERTER JE10 0.17X10X4 m2 6.80
%'k ERkv)avk o 10X4 m 40.00
N Za fERZE 9004k 100-+(0.1X0.1) 1 10000
{EHE A Ho ENHN(1:2) | GEHEERICET m3




No.

SH-B /Nl f1 a5

Mk

it H R

100 m2¥%4Y

CAA i) PSR ) E2V =X {A B &

PRI h=-20 0.35X100 m3 35.0
7% 0.35X100 m3 35.0
FER T 100 m2 100.0

BEIT =T

A (RC-40)150 100 m2 100.00

T 0.1X10X2 m2 2.00
2/7)—h 18-8-25 0.1X 100 m3 10.00
BLEMIV 1:3 (Z275§) MR T m3
fifffis B RHIEFEER JE10 0.2X10X4 m2 8.00
=%V Bk 10X4 m 40.00
N Za 1ERE 90004k 100+(0.1X0.1) 1 10000
{b¥EH Ho EAZNV(1:2)  REMEEIZE T m3




No.

[H-A fAiESHE

Mk

it H R

100 m2¥%4Y
CAA i) PSR ) E2V =X {A B &
PRI h=-20 0.2 100 m3 20.0
V2 mw U] 0.2 100 m3 20.0
FER T 100 m2 100.0
BEIT =T
A (RC-40)100 100 m2 100.00
T 0.07X10X2 m2 1.40
2/7)—h 18-8-25 0.07 X100 m3 7.00
BLEMIV 1:3 (ZE7) MR T m3
fii B o RHIEFEER JE10 0.1X10X4 m2 4.00
%'k ERkv)avk o 10X4 m 40.00
B gL JE200941k m2 100
{EHE A Ho ENHN(1:2) | GEHEERCET m3




No.

[H-B A iE&HS:

Mk

it H R

100 m2¥%4Y
CAA i) PSR ) E2V =X {A B &
PRI h=-20 0.28 X100 m3 28.0
V2 mw U] 0.28 X100 m3 28.0
FER T 100 m2 100.0
BEIT =T
A (RC-40)150 100 m2 100.00
T 0.1X10X2 m2 2.00
2/7)—h 18-8-25 0.1X 100 m3 10.00
BLEMIV 1:3 (ZE7) MR T m3
fii B o FHIERTER JE10 0.13X10X4 m2 5.20
%'k ERkv)avk o 10X4 m 40.00
B gL JE200941k m2 100
{EHE A Ho ENHN(1:2) | GEHEERCET m3




No.

RH-A L HigdE

Mk

v

100 m2¥%4Y

CAA i) PSR ) E2V =X {A B &
PRI h=-20 0.16 X100 m3 16.0
V2 mw U] 0.16 X100 m3 16.0
FER T 100 m2 100.0

BEIT =T

A (RC-40)100 100 m2 100.00
B~ 100 m2 100.0
oy 1000.03 < 1.29 m3 3.87
P K 100 m2 100.00




No.

RH-B L A4

Mk

v

100 m2¥%4Y

CAA i) PSR ) E2V =X {A B &
PRI h=-20 0.21 X100 m3 21.0
V2 mw U] 0.21 X100 m3 21.0
FER T 100 m2 100.0

BEIT =T

A (RC-40)150 100 m2 100.00
B~ 100 m2 100.0
oy 1000.03 < 1.29 m3 3.87
P K 100 m2 100.00




No.

NI = Vvl
OB E B E
KH-A :I:EE%
100 m233%Y
& B G S H = AL W =
RIE 0.1 100 m3 10.0
R 0.1 100 m3 10.0
s T IR 100 m2 100.00
aib+ 0.1X100x1.27 m3 12.70
T WEE (ERS ) 1100 m2 100.00
{LRERD GIE) +3%
Fmtt LT J& & EH 100 m2 100.00




No.

OB A O

KH-B :l:ﬁﬁ"‘zgj‘
100 ni4y
& B M - =y HAL # =
LR T R 100 m2 100.0
AT v — RC-40

T A t=100 100 m 100.0
Hib+ 0.1X100X1.27 m3 12.7
FE L R (EA 1) 1100 m2 100.0

LB G E ) +3%
Fimft ET &% EH 100 m2 100.0




No.

Mk

it H R

DH-A a7 A7 7L Magdk

100 m233%Y
& B G S H = AL W =

RIE 0.14 X100 m3 14.0

R 0.14 X 100 m3 14.0

R T 100 m2 100.0
BTy =T

A (RC-40)100 100 m2 100.00
BT A7 VT

& ZAME JE40 100 m2 100.00




No.

Mk

it H R

DH-B a7 A7 7)V Mk

100 m233%Y
& B G S H = AL W =

RIE 0.19X 100 m3 19.0

R 0.19 X 100 m3 19.0

R T 100 m2 100.0
BTy =T

A (RC-40)150 100 m2 100.00
BT A7 VT

& ZAME JE40 100 m2 100.00




No.

NI = Vvl
OB E B E
MH-30A HRA &
100 m233%Y
& B G S H = AL W =
PR3 h=-20 0.17 X100 m3 17.0
7+ 0.17 X100 m3 17.0
R T 100 m2 100.0
BTy =T
A (RC-40)100 100 m2 100.00
BLEMIN 1:3 (ZE#) AAHEE IS T m3
Gily=Z 300%300%60 g ) # 1,129
1Bt E H EALN(1:2)  BEMEEIZE T m3




No.

NI = Vvl
OB E B E
MH-30B B XA &H%:
100 m233%Y
& B G S H = AL W =
PR3 h=-20 0.22 X100 m3 22.0
7+ 0.22X100 m3 22.0
R T 100 m2 100.0
BTy =T
A (RC-40)150 100 m2 100.00
BLEMIN 1:3 (ZE#) AAHEE IS T m3
Gily=Z 300%300%60 g ) # 1,129
1Bt E H EALN(1:2)  BEMEEIZE T m3




No.

OB E R OE

GCH-A I AT Filids

100 m2¥%4Y

CAA i) PSR ) E2V =X {A B &
PRI 0.15x100 m3 15.0
V2 mw U] 0.15X100 m3 15.0
FER T 100 m2 100.0

BEIT =T

A (RC-40)100 100 m2 100.00
TA77 VNI E FARPE JE40 100 m2 100.00
ThFy7° FARPE JE10 100 m2 100.00




No.

OB E R OE

SYB-A-a-1,2 AR EEEFHEH 7 uy)

100 m233%Y
& FR G S H = AL W =
RIE 0.19X 100 m3 19.0
sy U 0.19X100 m3 19.0
R T 100 m2 100.0
BTy =T
i Sk (RC-40)100 100 m2 100.00
oy MR I E D m3
R REER 7
nyY
SYB-A-a-1  #HE7'mys  HHLY /4 1,129
SYB-A-a-2 {EEMAELT7my)  HRERLY /4 1,129




No.

OB E R OE

SYB-A-b-1,2 (REEEEFERH 7 0y
100 m233%Y
& FR G S H = AL W =
RIE 0.24 X100 m3 24.0
7% A 0.24 X100 m3 24.0
R T 100 m2 100.0
BTy =T
i Sk (RC-40)150 100 m2 100.00
oy MR I E D m3
R REER 7
nyY
SYB-A-b-1  #FE7'uys D % 1,129
SYB-A-b-2 EEMAE7 mys REIY % 1,129




No.

OB E R OE

SYB-B-a-1,2 tREEEEFHERH 7 uy)

100 m233%Y
& FR G S M = AL W =
RIE 0.19X 100 m3 19.0
sy U 0.19X100 m3 19.0
R T 100 m2 100.0
BTy =T
i Sk (RC-40)100 100 m2 100.00
K= MR I E D m2
Edi MR I E D m3
R EER 7
nyY
SYB-B-a-1  @EE7'mys LY % 1,129

SYB-B-a-2| {EEMAEE7mys [ ZREPD % 1,129




No.

OB E R OE

SYB-B-b-1,2 fREEEAFEEH 7 vyl

100 m233%Y
& FR G S M = AL W =
RIE 0.24 X100 m3 24.0
sy U 0.24 X100 m3 24.0
R T 100 m2 100.0
BTy =T
i Sk (RC-40)150 100 m2 100.00
K= MR I E D m2
Edi MR I E D m3
R EER 7
nyY
SYB-B-b-1  #&E7'mys D /4 1,129

SYB-B-b-2 EEMAEE70ys ALY # 1,129




No.

OB E R OE

CF-10A~15A 22 7U—MN&A

10 m¥%4y
& B G S H =2V AL W =
RIE (0.140.4) X 0.18 X 10 m3 0.9
R 0.9-0.2 m3 0.7
R (0.16 X 0.140.1 X 0.08) X 10 m3 0.2
JEEEIE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
2 7)—Ng A
A= 1 =600
CF-10A 100X 100 10 m 10.00
CF-12A 100X 120 10 m 10.00
CF-15A 100X 150 10 m 10.00




No.

OB E R OE

CF-12B~20B =2 7V—MN&A

10 m¥%4y
& B G S H =2V AL W =
RIE (0.12+0.4) X 0.18 X 10 m3 0.9
HERE 0.9-0.3 m3 0.6
R (0.18X0.14+0.120.08) X 10 m3 0.3
JEEEIE 0.18 X 10 m2 1.8
BTy =T
FHnfE (RC-40) t=100 |0.18 X 10 m2 1.80
2 7)—Ng A
A= 1 =600
CF-12B 120120 10 m 10.00
CF-15B 120X 150 10 m 10.00
CF-20B 120X 200 10 m 10.00




No.

OB E R OE

CF-20C,25C 2 7U—MN&A

10 m¥%4y
& B G S A =2V AL W =
RIE (0.15+0.4) X 0.18 X 10 m3 1.0
HERE 1.0-0.3 m3 0.7
R (0.21X0.1+0.15 X 0.08) X 10 m3 0.3
JEEEIE 0.21 X 10 m2 2.1
BTy =T
FHnfE (RC-40) t=100 |0.21X 10 m2 2.10
2 7)—Ng A
A=V 1 =600
CF-20C 150X 200 10 m 10.00
CF-25C 150 X 250 10 m 10.00




No.

M = Yoviv
OB E B E
CF-10D =i ZV—N&A
10 m¥%4y
& B G S H =2V AL W =
RIE (0.13+0.4) X 0.29X 10 m3 1.5
HERE 1.5-0.4 m3 1.1
R (0.13X0.240.1<0.09) X 10 m3 0.4
JEEEIE 0.13X 10 m2 1.3
BTy =T
FHnfE (RC-40) t=100 |0.13X 10 m2 1.30
Tl 0.1X2X10 m2 2.00
)= 18-8-25 0.13%0.1X10 m3 0.13
a7 —Mg A
A=V 100X 100 X600 |10 m 10.00




No.

M = Yoviv
OB E B E
CF-10E =i 27V —NM&A
10 m¥%4y
& B G S H =2V AL W =
RIE (0.16+0.4) X 0.31 X 10 m3 1.7
HERE 1.7-0.4 m3 1.3
R (0.13X0.240.1X0.11) X 10 m3 0.4
JEEEIE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
Tl 0.1X2X10 m2 2.00
)= 18-8-25 0.16 X0.1X10 m3 0.16
2 7)—Ng A
A=V 100X 100 X600 |10 m 10.00




No.

NI = Vvl
OB E B E
CF-12E a7V —NM&A
10 m¥%4y
& B G S H =2V AL W =
RIE (0.18+0.4)X0.33X 10 m3 1.9
HERE 1.9-0.5 m3 1.4
R (0.18X0.21+0.12 X 0.13) X 10 m3 0.5
JEEEIE 0.18 X 10 m2 1.8
BTy =T
FHnfE (RC-40) t=100 |0.18 X 10 m2 1.80
Tl 0.1X2X10 m2 2.00
)= 18-8-25 0.18X0.1X10 m3 0.18
2 7)—Ng A
A=V 120X 120 X600 |10 m 10.00




No.

OB E R OE

CF-10F =i 7V —NM&A

10 m¥%4y
& B G S H =2V AL W =
RIE (0.140.4) X 0.23 X 10 m3 1.2
R 1.2-0.3 m3 0.9
R (0.16 X0.140.1X0.13) X 10 m3 0.3
JEEEIE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
2 7)—Ng A
A=V 1=600 100X 100 |10 m 10.00




No.

OB E R OE

SF-10A~15A A& A

10 m¥%4y
& B G S H =2V AL W =
RIE (0.140.4) X 0.18 X 10 m3 0.9
R 0.9-0.2 m3 0.7
R (0.16 X 0.140.1 X 0.08) X 10 m3 0.2
JEEEIE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
) —MEA
A= 1 =600
SF-10A 100X 100 10 m 10.00
SF-12A 100X 120 10 m 10.00
SF-15A 100X 150 10 m 10.00




No.

OB E R OE

SF-12B~20B A& A

10 m¥%4y
& B G S H =2V AL W =
RIE (0.12+0.4) X 0.18 X 10 m3 0.9
HERE 0.9-0.3 m3 0.6
R (0.18X0.14+0.120.08) X 10 m3 0.3
JEEEIE 0.18 X 10 m2 1.8
BTy =T
FHnfE (RC-40) t=100 |0.18 X 10 m2 1.80
) —MEA
A= 1 =600
SF-12B 120120 10 m 10.00
SF-15B 120X 150 10 m 10.00
SF-20B 120X 200 10 m 10.00




No.

OB E R OE

SF-20C,25C A% A

10 m¥%4y
& B G S A =2V AL W =
RIE (0.15+0.4) X 0.18 X 10 m3 1.0
HERE 1.0-0.3 m3 0.7
R (0.21X0.1+0.15 X 0.08) X 10 m3 0.3
JEEEIE 0.21 X 10 m2 2.1
BTy =T
FHnfE (RC-40) t=100 |0.21X 10 m2 2.10
) —MEA
A=V 1 =600
SF-20C 150X 200 10 m 10.00
SF-25C 150 X 250 10 m 10.00




No.

SF-10D &A% A

OB E R OE

10 m¥%4y
& B G S H =2V AL W =
RIE (0.13+0.4) X 0.29X 10 m3 1.5
HERE 1.5-0.4 m3 1.1
R (0.13X0.240.1<0.09) X 10 m3 0.4
JEEEIE 0.13X 10 m2 1.3
BTy =T
FHnfE (RC-40) t=100 |0.13X 10 m2 1.30
Tl 0.1X2X10 m2 2.00
)= 18-8-25 0.13%0.1X10 m3 0.13
2 7)—Ng A
A=V 100X 100 X600 |10 m 10.00




No.

SF-10E A% A

OB E R OE

10 m¥%4y
& B G S H =2V AL W =
RIE (0.16+0.4) X 0.31 X 10 m3 1.7
HERE 1.7-0.4 m3 1.3
R (0.13X0.240.1X0.11) X 10 m3 0.4
JEEEIE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
Tl 0.1X2X10 m2 2.00
)= 18-8-25 0.16 X0.1X10 m3 0.16
2 7)—Ng A
A=V 100X 100 X600 |10 m 10.00




No.

SF-12E ¥EA %A

OB E R OE

10 m¥%4y
& B G S H =2V AL W =
RIE (0.18+0.4)X0.33X 10 m3 1.9
HERE 1.9-0.5 m3 1.4
R (0.18X0.21+0.12 X 0.13) X 10 m3 0.5
JEEEIE 0.18 X 10 m2 1.8
BTy =T
FHnfE (RC-40) t=100 |0.18 X 10 m2 1.80
Tl 0.1X2X10 m2 2.00
)= 18-8-25 0.18X0.1X10 m3 0.18
2 7)—Ng A
A=V 120X 120 X600 |10 m 10.00




No.

SF-10F A% A

OB E R OE

10 m¥%4y
& B G S H =2V AL W =
RIE (0.140.4) X 0.23 X 10 m3 1.2
R 1.2-0.3 m3 0.9
R (0.16 X0.140.1X0.13) X 10 m3 0.3
JEEEIE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
) —MEA
A=V 1=600 100X 100 |10 m 10.00




No.

OB E R OE

MF-10A~15A HIKABA

10 m¥%4y
& B G S H =2V AL W =
RIE (0.140.4) X 0.18 X 10 m3 0.9
R 0.9-0.2 m3 0.7
R (0.16 X 0.140.1 X 0.08) X 10 m3 0.2
JEEEIE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
B G a 7
=54 1 =600
MF-10A 100X 100 10 m 10.00
MF-12A 100X 120 10 m 10.00
MF-15A 100X 150 10 m 10.00




No.

OB E R OE

MF-12B~20B HXAEA

10 m¥%4y
& B G S H =2V AL W =
RIE (0.12+0.4) X 0.18 X 10 m3 0.9
HERE 0.9-0.3 m3 0.6
7 (0.18X0.14+0.120.08) X 10 m3 0.3
JEEEIE 0.18 X 10 m2 1.8
BTy =T
FHnfE (RC-40) t=100 |0.18 X 10 m2 1.80
B G a 7
=54 1 =600
MF-12B 120120 10 m 10.00
MF-15B 120X 150 10 m 10.00
MF-20B 120X 200 10 m 10.00




No.

OB E R OE

MF-20C,25C HRAKZA

10 m¥%4y
& B G S H =2V AL W =
RIE (0.15+0.4) X 0.18 X 10 m3 1.0
HERE 1.0-0.3 m3 0.7
R (0.21X0.1+0.15 X 0.08) X 10 m3 0.3
JEEEIE 0.21 X 10 m2 2.1
BTy =T
FHnfE (RC-40) t=100 |0.21X 10 m2 2.10
B G a 7
= 1 =600
MF-20C 150X 200 10 m 10.00
MF-25C 150 X 250 10 m 10.00




No.

NI = Vvl
OB E B E
MF-10D BARG&A
10 m¥%4y
& B G S H =2V AL W =
RIE (0.13+0.4) X 0.29X 10 m3 1.5
HERE 1.5-0.4 m3 1.1
R (0.13X0.240.1 X0.09) X 10 m3 0.4
JEEEIE 0.13X 10 m2 1.3
BTy =T
FHnfE (RC-40) t=100 |0.13X 10 m2 1.30
Tl 0.1X2X10 m2 2.00
)= 18-8-25 0.13%0.1X10 m3 0.13
Bk axa 7
=4 100X 100X 600 |10 m 10.00




No.

NI = Vvl
OB E B E
MF-10E B A#%A
10 m¥%4y
& FR G S H =2V AL W =
RIE (0.16+0.4) X 0.31 X 10 m3 1.7
HERE 1.7-0.4 m3 1.3
R (0.13X0.240.1X0.11) X 10 m3 0.4
FEH ¥ IE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
Hll 0.1X2X10 m2 2.00
)= 18-8-25 0.16 X0.1X10 m3 0.16
Bk axa 7
=4 100X 100X 600 |10 m 10.00




No.

NI = Vvl
OB E B E
MF-12E HRA&A
10 m¥%4y
& B G S H =2V AL W =
RIE (0.18+0.4)X0.33X 10 m3 1.9
HERE 1.9-0.5 m3 1.4
R (0.18X0.21+0.12 X 0.13) X 10 m3 0.5
JEEEIE 0.18 X 10 m2 1.8
BTy =T
FHnfE (RC-40) t=100 |0.18 X 10 m2 1.80
Tl 0.1X2X10 m2 2.00
)= 18-8-25 0.18X0.1X10 m3 0.18
Bk axa 7
=4 120X 120 X600 |10 m 10.00




No.

MF-10F B EG&%A

OB E R OE

10 m¥%4y
& B G S H =2V AL W =
RIE (0.140.4) X 0.23 X 10 m3 1.2
R 1.2-0.3 m3 0.9
R (0.16 X0.140.1X0.13) X 10 m3 0.3
JEEEIE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
B G a 7
=4 1=600 100X 100 |10 m 10.00




No.

NI = Vvl
OB E B E
RF-A L&A
10 m¥%4y
& B G S H =2V AL W =
RIE (0.140.4) X 0.22 X 10 m3 1.1
R 1.1-0.3 m3 0.8
7% L ALE (0.16X0.172+(0.1+0.16) X 0.5 X 0.018+0.1 X 0.03) X 10 m3 0.3
FEH ¥ IE 0.16 X 10 m2 1.6
BTy =T
FHnfE (RC-40) t=100 |0.16X 10 m2 1.60
BLEeL2L 1:3 (0.16 X 0.03+0.06 X 0.042+0.03 X 0.018 X 0.5 X 2) X 10 m3 0.079
LA (AEAE)
210X100X60 R
RF-A iy 150 N 150
H #he L2 1 1:3 0.03 (ANEAH#D m3 0.030




No.

RF-B Vo & A

OB E R OE

10 m¥%4y

& B G S H =2V AL W =
RIE (0.13+0.4) X 0.18 X 10 m3 1.0
HERE 1.0-0.3 m3 0.7

(0.19X0.142+(0.13+0.19) X 0.5 X 0.018+0.13 X 0.02) X
7 10 m3 0.3
JEEEIE 0.19X 10 m2 1.9
BTy =T
FHnfE (RC-40) t=100 |0.19X 10 m2 1.90
BLENLH L 1:3 (0.19 % 0.03+0.06 X 0.012+0.03 X 0.018 X 0.5 X 2) X 10 m3 0.070
P (N HED)
RF-B| 210X 100X60 |955+2-10 47.75
210X100X60 R

i B 955210 47.75
HHiE/L 21 1:3 0.02 (ZN[EAH m3 0.020




No.

OB E R OE

ZF MBI AR A
10 m¥%4y
& B G S H =2V AL W =
RIE (0.35+0.4) X 0.23 X 10 m3 1.7
HERE 1.7-0.9 m3 0.8
R (0.4 0.1+0.35X0.13) X 10 m3 0.9
JEEEIE 0.4%X10 m2 4.0
BTy =T
FHnfE (RC-40) t=100 0.4 X 10 m2 4.00
Tl P (0.06+0.13) X 10 m2 1.90
av )= 18-8-25 (0.35 % 0.06+0.35 X 0.07-2) X 10 m3 0.33
M A 350N 5 0.27X10 m2 2.70




No.

OB E R OE

%
GF-A BER&A
10 m¥%4y
& FR HO% H =2V AL o B
RIE (0.2+0.4) X 0.3 X 10 m3 1.8
R 1.8-0.5 m3 1.3
R (0.2X0.1+0.2X0.12+0.1 X 0.08) X 10 m3 0.5
JEEEIE 0.2X10 m2 2.0
BTy =T
FHnfE (RC-40) t=100 |0.2X 10 m2 2.00
Tl 0.12X2X10 m2 2.40
)= 18-8-25 (0.2X0.12-0.12X0.07) X 10 m3 0.16
FTHSE ¢ 100X
7)) MR h300 X L500 10+0.5 N 20.00




No.

OB E R OE

GF-B #EABA
10 m¥%4y
& FR HO% H =2V AL o B
RIE (0.240.4) X 0.35X 10 m3 2.1
R 2.1-0.6 m3 1.5
R (0.2X0.1+0.2X0.17+0.1 X 0.08) X 10 m3 0.6
JEEEIE 0.2X10 m2 2.0
BTy =T
FHnfE (RC-40) t=100 |0.2X 10 m2 2.00
Tl 0.17X2X%10 m2 3.40
)= 18-8-25 (0.2X0.17-0.12X0.12) X 10 m3 0.20
FTHSE ¢ 100X
7)) MR h500 X L500 10+0.5 /N 20.00




No.

GS-A A7 vy ik A

OB E R OE

10 m34Y

4 W PSR ) E2V =X {7A ¥ &
PRI (0.12+0.4) X 0.2 10 m3 1.0
HLR 1.0-0.4 m3 0.6
V2 mw U] (0.22X0.13+(0.12+0.22) 2 0.05+0.12 X 0.02) X 10 m3 0.4
S E 0.22X10 m2 2.2

BEIT =T

LM (RC-40) t=100  0.22X10 m2 2.20
BLEMV 1:3 (Z=##) (0.22%0.03+0.05 % 0.05+2X2) X 10 m3 0.091
A7y 398X120X190  10+0.4 1 25
H e 2L 1:2 0.115X0.185%0.01 X 50 m3 0.011




No.

GS-B #A 7 uy/ixAa

OB E R OE

10 m¥%4y
& FR HO% H =2V AL o B
RIE (0.22+0.4) X 0.21 X 10 m3 1.3
HERE 1.3-0.4 m3 0.9
(0.22X0.140.22 X 0.05+(0.12+0.22) =2 X 0.05+0.12 X
7 0.01)X 10 m3 0.4
JEEEIE 0.22 X 10 m2 2.2
BTy =T
FHnfE (RC-40) t=100 |0.22X 10 m2 2.20
Tl 0.05X2x10 m2 1.00
)= 18-8-25 0.22%0.05X 10 m3 0.11
BLENVAL 1:3 (Z=46) ((0.12+0.22) X 1 +2X0.05-0.12 X 0.03) X 10 m3 0.049
E5N1) D10 1=100 @250 |10.0-+0.25X0.1X0.56-+ 1000 t 0.002
\ 400X 150 X 40 4%
B 7ays J 10+0.4 & 25
BaTayy 398 X 120X190 10-+0.4 1 25
H e %1 1:2 ((0.19%X0.115+0.145X0.035) X 25+0.115X%X 10) X 0.01 m3 0.018




No.

KF-A ZBiR7 vyl A

OB E R OE

10 m¥%4y

& FR G S H =2V AL W =
RIE (0.12+0.4) X 0.22X 10 m3 1.1
HERE 1.1-0.3 m3 0.8
R (0.17 X 0.1+0.12 X 0.03+0.12 X 0.09) X 10 m3 0.3
FEH ¥ IE 0.17 X 10 m2 1.7

BTy =T
FHnfE (RC-40) t=100 |0.17X 10 m2 1.70
BILEMAL 1:3 (ZE#) 0.12%0.03X 10 m3 0.036
\ 120X 190 X 390 C

A= (i 10+-0.4 1 25
H H1E/1L %1 1:2 0.115%0.185x0.01 X 25 m3 0.005




No.

OB E R OE

KF-B Z={H7 vy/ixfA

10 m¥%4y
& FR G S A =2V AL W =

RIE (0.240.4) X 0.25X 10 m3 1.5

R 1.5-0.5 m3 1.0

7 (0.2X0.1+0.2 X 0.05+0.15 X 0.1) X 10 m3 0.5

FEH ¥ IE 0.2X10 m2 2.0

BTy =T

FHnfE (RC-40) t=100 |0.2X 10 m2 2.00

Hll 0.05X2x10 m2 1.00

)= 18-8-25 0.2X0.05X 10 m3 0.10
150X 190X 390 C

L A= i 10+-0.4 1 25
150X 190X 390 C

L A= i 10+-0.4 1 25

H #ie L2 1 1:2 (0.145 X 0.185 X 25 X 2+(0.145+0.15) X 10) X 0.01 m3 0.043

E78i1] D10 1=100 @250 |10.0+0.25X0.1X0.56-+ 1000 t 0.002




No.

OB A O

CK-A o JU—hrEER

10 m¥%4Y
4 ST B E2V B #H =
PR, X RS LRI FE m3
MR X RS LRI FE m3
B g X RS LRI FE m3
FEEIE X RS LRI FE m2
(FE&ER)
BAITY =T
FEHfE (RC-40) t=100 1 0.45X10 m2 4.50
TP (0.3+0.2) X 10 m2 5.00
SR $6 150X 150 0.30X10X1.03 m2 3.09
27)—k 18-8-25 0.35%0.3X10-0.01X0.06 X 10 m3 1.04
STt BT ((0.35-0.06)+0.15) X 10 nd 4.40
PBEE: &AL 10 m 10
(LBEE)
BAITY =T
FEHfE (RC—40) t=100 0.35X10 m2 3.50
T 0.15X10 m2 1.50
e $6 150X150 0.35X10X1.03 m2 3.61
27)—k 18-8-25 (0.1+0.25) 2% 0.35 X 10-0.01 X 0.06 X 10 m3 0.61
STt BT ((0.35-0.06)+0.15) X 10 nd 4.40
BEE: &AL 10 m 10




No.

NI = Vvl
OB E B E
CK-B = 7V—h7 v/ REE:
10 m¥%4y
& B G S H =2V AL W =
RIE FREF ST LB FE m3
PR REF AR L0 BB FEE m3
F AL R EHR I IV RIRTEE m3
FmEEE REF AR L0 BB FEE m2
(CFB&E8)
BTy =T
Hnf (RC-40) t=100 |0.45X 10 m2 4.50
Tl P (0.22+0.12) X 10 m2 3.40
B4 $6 150X150 10.30X10X1.03 m2 3.09
)Y —h 18-8-25 0.35%0.22X 10 m3 0.77
BILEMINL 1:3 (ZE4#) 0.35%0.02X 10 m3 0.070
VAN T 1:2 B 0.12X 10 m2 1.20
) —NEEE 7T | 600X 360 X 60 A
HyJ Yy M~ A/ MEAR 10 m 10.00
(LEE¥ER)
BTy =T
pri (RC-40) t=100 |0.35X 10 m2 3.50
T P (0.15+0.1)X 10 m2 2.50
B4 $6 150X150 10.35X10X1.03 m2 3.61
)= 18-8-25 (0.25+0.1) =2 0.35X 10 m3 0.61
BLENVAL 1:3 (Z=%6) (0.35+0.06) X 0.02 X 10 m3 0.082
VAN T 1:2 B 0.09 X 10 m2 0.90
27 —MEEETT T 600 X360 X60 A
HyJ Yy M~ A/ MBS 10 m 10.00




No.

OB E R OE

GK #EARPEEE
10 m¥%4y
& B G S A =2V AL W =
RIE (0.25+0.4) X 0.25X 10 m3 1.6
HERE 1.6-0.6 m3 1.0
(0.35X0.140.25 X 0.05+0.1 X 0.1--2+0.12X0.1+0.03 X
7% L ALE 0.03-2)X 10 m3 0.6
JEEEIE 0.35 X 10 m2 3.5
BTy =T
FHnfE (RC-40) t=100 |0.35X 10 m2 3.50
Tl 0.05X2x10 m2 1.00
av )= 18-8-25 (0.25 % 0.05+0.03 X 0.03+2) X 10 m3 0.13
ELH L 1:03 0.1X0.1X0.5X10 m3 0.05

FiE5E 100 X 250
AR T vy X 500 10+0.5 Zi 20.00




No.

MoEEEE E
GKS fhEE 238
10 m¥4b
A i % " 7 B &=
23
BAT oy 2.6}1 2%5 N 10.0




No.

OB E R OE

MK-150~200 FLAPEEE

10 E4Y
& B G S H =2V AL W =
MK-150
IR GG KO12cm 1=
FH) 1500 0.06X0.06X3.14X 1.5X2X 10X 1.05 m3 0.356
IR B KO10cm 1=
FH) 500 0.05X0.05X3.14X0.5X2X 10X 1.05 m3 0.082
ARILRF b W1/2 1=240 4X10X0.26 kg 10.40
SHLJEE 4 W1/2 4X%10 e 40
MEK-200
IR GG KO12cm 1=
FH) 2000 0.06X0.06X3.14X2.0X2X10X1.05 m3 0.475
IR B KO10cm 1=
FH) 500 0.05X0.05X3.14X0.5X2X 10X 1.05 m3 0.082
VI N AN W1/2 1=240 4X10X0.26 kg 10.40
LA 4 W1/2 4X%10 1 40




No.

OB E R OE

MK-250 FLAREER

10 E4Y
& B G S A =2V AL W =
IR GG KOl12cm 1=
FH) 2500 0.06X0.06X3.14X2.5X2X 10X 1.05 m3 0.593
IR GG KO10cm 1=
FH) 500 0.05%0.05%3.14X0.5X3X 10X 1.05 m3 0.124
NI N RN W1/2 1=240 6X10X0.26 kg 15.60

A4 W1/2 6X10 1 60




